Math 90 Final Exam Review



Name______________________________
Spring 2008
Expressions.  
1. Simplify:  
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2. Simplify using properties of exponents: 
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3. Simplify using properties of exponents.  Your answer must only have positive exponents.
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4. Multiply out and simplify: 
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5. Multiply and simplify: 
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6. Multiply and simplify: 
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7. Divide:  
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8. Divide (long division):  
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9. Factor completely:  
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10. Factor completely:  
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11. Factor completely:  
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12. Factor completely:  
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13. Simplify 
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14. Multiply and simplify:  
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15. Divide and simplify:  
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16. Add and simplify:  
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17. Subtract and simplify:  
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18. Add and simplify:  
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19. Subtract and simplify:  
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20. Simplify the radical:  
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21. Simplify:  
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22. Rationalize the denominator and simplify:  
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Solve the following equations:
degree one:

23. 
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24. 
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proportion:

26. 
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degree two – solve by factoring:

27. 
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degree two – solve using the square root property:

30. 
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degree two – solve using the quadratic formula:

31. 
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33. 
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rational equations – try to eliminate the denominators and turn it into a degree one or two equation!

34. 
[image: image34.wmf]2

3212

339

rrr

-

-=

+--


35. 
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36. 
[image: image36.wmf]2

512

x

xx

=

-


radical equations – remember to eliminate the radical (by squaring) and solving your degree one or two equation.  Check your solutions!
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39. 
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Solve the system of equations.  Use the stated method.
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Elimination
41. 
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Substitution
Applications:  Be sure to define the variable(s) and set up an equation and solve (If you use one variable, then you must set up one equation.  If you choose to use two variables, then you must set up two equations and solve the system)

42. If 3 is subtracted from a number, the result is one more than twice the number.  Find the number.

43. In 2007, Halo 3 sold 700,000 more copies than the popular Nintendo Wii Play.  Together they sold 8,940,000 copies.  They were the two top selling video games that year.  How many Halo 3 and how many Wii Play games were sold?

44. Two trains start from towns 360 miles apart and travel toward each other on parallel tracks.  They pass each other 3 hours later.  If one train travels 20 mph faster than the other, find the speed of the trains.

45. The length of my rectangular calculator lid is 11 mm more than the width.  The area is 152 square mm.  Find the dimensions of the lid.

46. Shirley can grade 75 finals in 6 hours.  Jenny can grade the same finals in 10 hours.  If Jenny and Shirley work together, how long would it take them to grade 75 finals?

Solve the following linear inequalities:
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48. 
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Graph the solution to the linear inequalities in two variables:
49. 
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50. 
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Graphing:

51. Graph the equation by plotting points.
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Graph the equation by plotting the x-intercept and y-intercept
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53. [image: image119.png]10



Graph the equation by finding the slope and the y-intercept.
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54. Graph the equation by finding the slope and the y-intercept.
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55. Graph the line passing through 


56.  Graph the line passing through
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 and having a slope of -2.
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 and having slope 
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57. Write the equation of the line passing through the points 
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 and 
[image: image54.wmf](2,5)

-

. Put your answer in slope-intercept form.
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58. Write the equation of the given line.

[image: image124.png]



[image: image125.png]



59. Graph the degree two
equation: 
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Vertex:  ______________
60. [image: image126.png]


Graph the degree two 
equation:  
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Vertex:  ______________
61. Given the following function:  
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.  Find the following:
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Go back over your 5 exams!
Good luck – Final Exam is scheduled for Tuesday May 27, 2008,  9:30 – 11:30AM Room 575.

Solutions:
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24. No Solution
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32. No Solution
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34. No Solution
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42. number: 
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43. Halo:  
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Wii Play:  
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44. 50 mph and 70 mph

45. width: 8mm,  height:  19mm

46. 3.75 hours
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51. 
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54. Vertex:  
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55. Vertex:  
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